
15.1 $l;lkhf;fg;gl;l xU guk;gypd; tiyAU tiuak; 
cjhuzk; :-  

nghJ tiug;Gfis nfhz;l 
tFg;ghapilfs; kPbwd; 

129.5 - 134.5 3 

134.5 - 139.5 7 
139.5 - 144.5 10 
144.5 - 149.5 5 
149.5 - 154.5 3 
154.5 - 159.5 2 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 nghUj;jkhd Xu; mstpiliag; gad;gLj;jp fpil mr;rpd; kPJ tFg;gpd; tiuaiwfisf; 
Fwpf;fg;gLk;. 
 

 nghUj;jkhd mstpilapy; epiyf;Fj;J mr;rpd; kPJ xt;nthU tFg;ghapilapdJk; 
kPbwdpd; cauj;ij Fwpf;Fk; epuiy tiuag;gLk;. 
 

 ,q;F epuy;fs; xd;iwnahd;W njhl;Lf; nfhz;bUf;fpd;wd vd;gij mtjhdpf;fTk;. 
 

 jw;NghJ gpd;tUk; $l;lkhf;fg;gl;l kPbwd; guk;gy;fis mtjhdpg;Nghk;. 
 

 

 
 
 
 

tFg;ghapil kPbwd;  tFg;ghapil kPbwd; 

130 - 135 3 130 - 134 3 
135 - 140 7 135 - 139 7 
140 - 145 10 140 - 144 10 
145 - 150 5 145 - 149 5 
150 - 155 3 150 - 154 3 
155 - 160 2 155 - 169 2 

KjyhtJ $l;lkhf;fg;gl;l 
guk;gy; 

,uz;lhtJ $l;lkhf;fg;gl;l 
guk;gy; 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

 

ghlk;:  fzpjk; 

juk;: 11 
A.M.F. Nazrin 
Kegalle Zahira Maha Vidyalaya 

thuk;  - 13 



 KjyhtJ guk;gypy; tFg;ghapilfSf;fpilNa ,ilntsp ,y;iy. MapDk; ,uz;lhtJ 
kPbwd; guk;gypy; tpj;jpahrk; 1 MFk; ( 135 - 134 = 1) 

 
MfNt ,ilntsp ,y;yhjpUf;f nghUj;jkhdthW vy;iyfis khw;wpf; nfhs;s Ntz;Lk; 
 
 cjhukhf ,uz;lhtJ guk;gypy; tFg;ghapilapd; Nky; vy;iyahfpa 134 ,w;Fk; 135 - 

139 tFg;ghapilapd; fPo; vy;iyahfpa 135 ,w;Fk; kj;jpapy; mike;Js;s 134.5 vd;gJ 
nghJ vy;iyahff; nfhs;sg;Lk;. ,jw;Nfw;g jahupf;fg;gl;l Gjpa guk;gy; NkNy 
cjhuzj;jpy; gad;gLj;jg;gl;lJ. 

 
cjhuzk; 2 
xU jtizg; guPl;irapy; fzpj ghlj;jpy; 40 gps;isfs; ngw;Wf; nfhz;l Gs;spfspypUe;J 
jahupf;fg;gl;l xU kPbwd; guk;gy; fPNo jug;gl;Ls;sJ. 
 
tFg;ghapilfs; 
ngw;w (Gs;spfs;) 0 - 10 10 - 20 20 - 30 30  - 40 40 - 50 50 - 70 70 - 100 

kPbwd; 
(gps;isfspd; 
vz;zpf;if) 

2 4 6 9 5 8 6 

 
kPbwd; guk;gypy; 50-70> 70-100 jtpu kw;iwa tFg;ghapilfspd; gUkd;fs; 10 MFk;. 50-70 
tFg;ghapilapd; gUkd; 20 ck; 70-100 tFg;gapilapd; gUkd; 30 ck; MFk;. 
 

/ 50 - 70 tFg;ghapilapd; cauk;  = 
8

2
 

 
      = 4 
70 - 100 tFg;ghapilapd; gUkd; rpwpa tFg;ghapilapd; gUkdpd; %d;W klq;fhFk; 
 

/ 70 - 100 tFg;ghapilapd; epuypd; cauk; = 
6

3
 

        
       = 2 vdf; fzpf;fg;gLk;. 
 
,t;thW fzpj;jgpd; tiue;j tiyAUtiuak; fPNo jug;gl;Ls;sJ.  


